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The figures in the margin indicate full marks for

the questions.

|.  Answer the following : 1x10=10
(4) Fill in the blanks : - '

(i) In market ségmentatidn the marketers
sub-divide a market into
subsets of customers. (homogeneous /
heterogeneous)

(i) The is the difference between
the cost of the product and the final
selling price. (markdown:/ mark-up)
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(B)

/iiiy Nicosial Model explains the
consumer’s buying behaviour from

perspective (marketers

‘COnSumers) '

/iv; The Howard Sheth model was given
in the year {1966 1969)

(v, Internal environment is controllable and
in nature. (micro / macro)

Choose the correct answer :

(vi) The primary objective of merchandise
planning is

(@) Improving profit
(b) Reducing loss
(c) Increasing production.

(vii) The modern retailer believes in la}ge

volumes at : margins.
(@) High
(b) ‘Medi.um
(c) Low
(d) None.
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(iii)

(iv)

(v)

(vi)

(vii)

Discuss the various components of the
Retailing environment. 8

State and explain the different classification
of Industrial Goods. Write four points of
distinction between Industrial Markets and
Consumer Markets. 4+4=8

What do you mean by Product strategy ?
Explain the various Product Market
Strategies. 2+6=8

State two impact of Sales Promotion. Discuss
the various sales promotion tools. 2+6=8

Discuss the various models of store layout
with their. diagrams. 4 8

(viii) State two important functions of Retailers.

Discuss the various services provided by the
Retailers. 2+6=8

47 (5) CBAR 5-5/G 5 : - 500



(C) State True or False :

(vm) A departmental store may- be deﬁned
as a system of branch shops operating
under under a centrahsed management,
dealing in similar hne of products

(ix) ..Retaﬂ offer con31sts of only tanglble

features.

(x): A Aconsumerls "a;ny :‘oﬁe_ who regulai’ly
- purchases goods from:a store.

~ Answer the following : L 2%5=10

(i)  Whatdo 'y'oi: mean by Conémﬁef BehaViour T

(i) State wo Psychologlcal determmants of
~ Consumer Bchawour

(iii) State: two essential condxtlons for successful :

market segmentanon. 4

(iv) State any two mtanglble serv1ces offered by'

rctaxlers

) What is 1mpulsebuy1ng‘7 ; e
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(vi) ‘Discuss the ' anous factors mﬂuencmg Retaﬂ

&)

Answer the followmg (Any four)

(i) ,ffeonsumep.behaviour is multi-disciplinary

oo dienatures» Bxplaing ., . < 5

~‘S’oCioilogfi'cet’Ii;Model of consumer
' ""-*’Behavrour e SR et

(iti}: D1ScuSs the different alternatwe strategies
vtowards market segmentatlon State two
; beneﬁts of market segmentauon v S 2 S

(iv) - Explain the strategles for: managlng existing

product : e

(v)- Discuss the various factors affecting’ proper
s ‘sclcctlon of a retall locatlon 5.

s ;prlcmg

8

(i) Explam the consumer deC1s1on makmg
process. Support your answer with a suitable
diagramy. = _ 8
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